g |1 Fj by using
1. R R w % vt s i w6 t}llnd out the word which can be formed by
A Mg I 7 BT | ¢ letters of the given word.
SU
' SUPERVISION PERVISION
(1) NERVOUS NERVOUS
RESIGN %) RESIGN
@) ®)  PoISON
(3) POISON W) R
(4) REVISIT ) Not attempted
(5) ST TE o =TE
A 2. Which 0 » in the given
2. fefafed ders swen § x F @H ® wH numemr:fzgﬁ; ;W s
0,7, 26, X, 124, 215
0,7, 26, X, 124, 215 /)/ i ; S
(1 63 © -4 >
(2) 60 3) 65
(3) 65 @) 62 o
4) 62 : : (6) Not attempted
(5) TR & <1 =g : - SR
5 3.  You are the owner of a restaurant. One of your
3. M TH T F e 2 | 9w T feefladl =g delivery boys met with a minor accident while
T W HSH qé’aﬁ HI Segarit T AR §d3:” <l rushing to deliver the food on time. He needs rest
IR 8 m 2139 5 R % oW & STavdhaT & | for 5 days. Which of the following actions you will
S : take ? . B .
I Frefafad § & St whaE w02 ‘
: i ~ A You will give him paid leave for 5 days and
(1) 39 3& 5 R * gaaT sraFm N N ST : :
il will also pay for medical expenses.
faferean =2 &1 ft ypram w4 | 45 ; B ;
S Hh 3 B 2 (2) You will terminate him from the services\
g s 4 (3) You will suspend him for 5 days. 4
® smsH .5 fe  fome R : - (4) You will ask him to go on leave without pay
(4) 9 3| 5 A F fow fomm o g w9 F s
forg = | : (5) Not attempted .
(5) I & &1 =
: Fi Tt n 4. ‘A, ‘B, ‘C, D, ‘E’ and ‘F’ are six persons. ‘C’ is
4, ‘A’, ‘B’, ‘C’, ‘D’,, ‘E 3ﬁ-{ F’ ®8 6‘8{'%!5 % 1‘C' ‘D ﬁ el older than ‘D’ ‘A’ is the youngest. ‘B’ and,‘D’ are
BlAgEERIE| B 3D S A F § | of equal age. ‘B’ is older than ‘E’. ‘C’ is younger
BEATRI'CPATILI BIRINE 2 than F". Who are older than ‘B’ ?
(1) F3RC _ " FandC F
(2) C3mD (2) CandD
(3) C3IRE (8 CandE Lty C o
4) F3RE (4) FandE R—9
, Not attempted :
(5) I H A <& oy pore @) O E
RAMA/C1/Page 2 & & & fom pm I spAé:E FOR ROUGH WORK ;
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b (5)

5. @mm

o RRIEEIEZ1E L 5 D ——
Wﬁ%qaﬁg@mghm ma;:@aﬁ 5.

G NAEHR '

1 2 38 45 8

@D 38,5,6,2,4,1
) 5,3,1,2,4,6
@ 5,3,21,4,6
4) 5,3,1,2,6,4

(5) S 4 3 =

6. FrafiRes ¥ fis we 3@ Hifvm |
1 $_dwr
(2 e -
@) wES - 7
(4) oeft-ga 7
(5) I TE AT =R
7. 15§ YHR ‘ANGLES’ ¥ 694 ‘GNASEL’ ¥ 2, 3¢t
JHR ‘SQUARE’ &1 day frad g 2
(1) UQSREA
(2) UQSERA
(3) “UQSARE
(4) USQERA
IR TG ¢ FrRd

8. @ ¥®R BLUNT = @89 {BuTn’ ¥ 2, I TR
‘SHARP &1 day fha@ g ? :
(1) AhSpR
(2) HspaR
(3) PraHs
(4) hSaPr
(5) IaT Ll ¢ AR

9. XYZABCQRSOPMNJHI#+123§5
_aﬁ'm%mmﬁwﬁﬁﬂ%ﬁﬁﬁ@
Saa ges HiF-a1 g ?

6.

T — "f]

Select the combinat;, :
n of 1

letters arranged g, numbers so ;hat th: g. ;

meaningful word : orm

GNAETHR
1 2 3 45 ¢
M 3,5,6,2,4,19,\)\‘1\1537&/@%”,3&
(2) 5: 3’ 1v 2’ 4,6\416
3 5,3,2,1,460n ANV ke MANGKER
@) 5,8,1,2,6,4
(5) Not attempted

rdingly  will

Find the odd one out.
(1) Brick - Wall
_~2) Auditorium - Chair
(3) Petal —Flower
4) : Finger — Hand
 (5) Not attempted
% L, %’Ll
ANGLES is related to ‘GNASEL in the same
way as ‘SQUARE’ is related to 50
(1) UQSREA \E R
UQSERA — U
(3) UQSARE '
(4) USQERA—
- (5) Not attempted

‘BLUNT is related to 1BuTn’ in the same way as
‘SHARP is related to e
(1) AhSpR
(2) HspaR
(3) PraHs
hSaPr

(5) Not attempted ’
‘////(r t el
XYZABCQRSOPMNJHI#+12345

Whigih of the following is third to the right of the
element which is exactly in the middle of the

given sequence ?

(1) H 1) H

2 M i /('ZY M C
3 N 3) N

4) J @ J

(5) I TE & =TEd (5) Not attempted
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10. T 93 T TAT hMET N aper w6 @ B foFan T (10, Fing the odq one out which is coded differently,

.l (1) PLAY: YpPAL
(1) PLAY: YPAL 2 HOPE : EHPO
(2) HOPE: EHPO ® TUNE:ETNU

(3) TUNE: ETNU " MORE : ERMO

(4) MORE : ERMO (5)  Not attempted

(5) S e 21 wrgq ‘
11. In 4 certain code language ‘over and above’ is

Written ag ‘da@ta’ and ‘0ld and beautiful’ is
Writte_n as ‘sa na pa’. How is ‘and’ written in that

code language ? %w . ,\}‘m .

11. 3R foeh % WIS § ‘over and above’ H ‘da pa ta’
3 ‘old and beautiful’ I ‘sa na pa’ fer@n Sal 8,
W 38 F2 W91 § ‘ang’ F frg TR RrET T ?
;

>

~ .(1), na A.K Q”‘ *A ﬂ_,((‘-’?a

(1) na ?0\
(2) da . | (2) da € A\~

3) ;;a L ‘ _A2 pa

(4) ta 4) ta

(5) IO & & T (5) Not attempted

12. 39 % SRA. ¥ W T 106 =it & s 12. . On Ajay’s birthday, chocolates were to be

mﬁmmmﬁéla‘smmaﬁﬁ
aﬁﬁzﬁaﬁawmmmaﬁaﬁsqf\m&" .
i firr 5% | foaor & for e T m got 3 chocolates extra. How many total

_ chocolates were available for distribution ?

distributed equally among 100 children. He could
distribute to 70 children only so that each child

| 3qeTeg & ? .6 i
(1) 300 i3 % (1) 8300 , Yoo
12 700 ,0\ 2427 700 '
@ 2 : (3 210
(4) 900 - (4) 900
(5) 3 @ & =men ' (5) Not attempted

N — L
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18. ﬁwﬁf%aﬁ@mﬂ@mﬁmﬁﬁ(?)%m“

18. Which number will come i, place of the question

(e HH-Ht TE st 2
! m?:‘ 1{?‘7) @the 110@‘8 numerical series ?
27,216, 729, ? , 3375 3 37,216,729, 3 3375
f (1) 20736 (1) 20736
| 2 1729 @) 1729
| 3) 1728 ) 1728
4) 1500 (4) 1600 o
Not attempted €L
(5) I & e wE (6) X
; A
Find the odd term out o @
: i e ;
14. frafifed § P v smam g e it o
5, 15, 20, 24, 25
5, 15, 20, 24, 25 : .
(1 25 \v
(1) 25 _ \
18 ~ i @ 15 e ﬁi
- : , ; *
3) 20 ’ > zz - \\’\> q
e W
4 24 (5) Not attempted
(5) I TE < EA
|15. Three statements are followed by three
: : : conclusions. Take the statements to be true even
15. M EQFﬁ & =g i frend fon T E | R 9 if they seem to be at variance from the commonly
T @ fim 8 F ot FUAT T A gC I8 o known facts. Decide which of the given
Hifve 5 Tifhs &9 8 39 /& s fon e weAt “conclusions logically follow from the given
q foea €1 statements.
FYT: IS e 99 B Statements : Some plates are spoons.
FS FR WK 8 | Some bowls are plates.
it = Fer 2 | All spoons are bowls.
fAy: (I) 8w F:R g | ' Concluszons : D" Some plates are bowls.
(II) 9 FR 9974 2 | (II)  Some bowls are spoons.*
(II1) $& =74 e .| AIII) Some spoons are plates.
(1) @t I, 11 3 111 feverd & (1) AllT, II and III follow
(2) ae 1 3R 11 fiherd & (2)  Only I and II follow
(3) aa II 3 111 faeherd 8 (3) Only IT and III follow
(4) haa I 3R 111 freerd & A4~ Only I and III follow
(5) IR & AT =Ed (8) Not attempted o~
P
RAMA/C1/Page 5 T @ o foTY ¥ / SPACE FOR ROUGH WORK

G



16 :;T??%Hmﬁmﬁgwaﬂmm 19 T g ot o & wrtfors g T 2
- ‘ D) et gt w1 Froerr, ¢ o =i | X
L AR —2)" 7, wffen, w — g9 W e 9w o |
@ o e Tl @) 1 7o, 3w el 1y
(4) : '
(8) TR A I IAw L IX 7 N R T
| , ) v 7 & =
@) 7% fam Q@ @ g syu @ fres T | .
(5) S TE T SRR 20. Wmﬁm‘s«m’%:
1 =
2 =% *
. B3
17. S8 % sga i ¥ AT ¥ f wE % o @) T
TR g
1) IR : AN =
= 21. ?wmmﬁwammmw
: ?
S : e @
(9 =3H _ » : AL ww
(5) I T &1 =& {0
: @)
. (5) IO T 3 A
: t
718. IFnfe @ity =1 3gEwr g7 2 : ' Y
X 22, ‘Frgn-fen R 7eF 38 ¥ g
) T am ¥ REr ok 9 ot ¥ R A
2 & b
(1) I STEHT
(3) I=ga™ :
; ) (2) i DR
(4) T K3 T IR
5) FUE e (4) Hfiear 3T
(5) I Tl &

RAMA/C1/Page 6 T T % o1 werm / spACE FOR ROUGH WORK



W e

23, S =afs SH A A T F fu sy ’
NS A T
Hifse | -

)
A2y I
(3) TR
4) L
(5) TR TE o1 =

ST

24, Frefoifled T2 # | WG g W Fifvr |-
) s
STt
(3) S
(4) v
(5) I A =R

g7, o8 HAH HAH WG R W aqrey g § i Frswr=h

(1) a¥
2) i<
(3) @

/@)/am

(5) Jat TRl 41 =mEa

o8, ‘me-dTE W U WY HiehiRn 1 a1ef §
(1) STERT-IT el e i e

(2) a’gﬂWTHT@“T

<8 g s E

(4) g TEd B

(5) IO TE & <Rd

5. T % E TeE AR

25. ‘G¢ W=z % feru sfra wataaT=h wog @1 W Hfr |
(1) s | @ i ehe R
@) e (2 e R fada
(3) dfeht -ﬁ/ﬁaﬂtﬁm
o Fem 4) i e
(5) W T & wEA ) (5) I A ¥ AR
26. ‘IHgH T UG I 3hra faurg g 80. FefiRaw Rreredl & qeam weg i vgE™ HINT |
() 993w < 1) @ |
T I 2 e
3) W % fog gat (38) B
AW W IH (4) .
(5) SR & T =ME C ) R
RAMA/C1/Page 7 T T4 & foTQ T / SPACE FOR ROUGH WORK
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81. Choose the correct passive voice for™ 14

following sentence.

Sheetal will have finished the work.

(1) Sheetal will finish the work in due
2~ The work is finished by Sheetal-

(3) The work will be finished by Sheetal

time.

. b
(4) The work will have been finish® 4
Sheetal.
(8) Not attempted
ch has an

Pick out the part of the sentence whi

32.
error. If there is no error, your answer is (4)-
The simplest method
A
of welding two pieces of metal together
B :
is known as pressure welding.
C

1) €~

M A
3 B

)@‘ No error
(5) Not attempted

33. Rearrange the following parts of a sentence

labelled as PQRS to make a meaningful
sentence. .
P. deedsisto b@
Q. on to the futur
R. the power of nobl@
S. ~preserved and passed @

APSQ
(2) RSQP
(3) SQPR
(4) PQSR
(5) Not attempted

34. Pick out the correctly spelt word,

(1) Outrajious™
(2) Outregeousv

/(37 Outrageous
(4) Qutragous
(5) Not attempted

35.

36.

38.

37.

Choose the word which is opposite in meaning ¢,
the word underlined.

“She is slender in figure.”

1)
2)
3)
4)
(5)

slim

strong

frail

stout

Not attempted

In the following question, out of the four
alternatives, choose the one which can be

Substituted for the given sentence.

“An apartment building in which each apartment
is owned separately by the people living in it, but
also containing shared areas.”

(1)
2)
A3)
(4)
(5)

Caravan
Condominium
Multiplex
Duplex

Not attempted

Choose the word which is opposite in meaning to
the word underlined.
“Earthquakes are frequent in Japan.”

A1) rare

(2)  extinct

(3) " unusual

(4) few.

(5) Not attempted

Choose the alternative which best expresses the
meaning of the underlined idiom.
Her speech is always full of tall stories.

(1
(2)
(3)

_44]" exaggerated tales
(5) Not attempted

realistic stories™
long tales

heroic stories

RAMA/C1/Page 8
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Read the following passage careful]
questions 39, 40 and 41. fully and answer

India is one of the oldest civilizationg of the
which offers a kaleidoscope of cultura] experienc
country has a rich heritage and numerous att,,
It stretches from the snow-capped Himalayan
the tropical rain forests of the south
32,872,263 square kilometers. It is the world’s
Jargest country, distinguished from the rest of
mountains and the sea which gives the country o
distinct geographical identity. India showcases g
variety of heritdge resources crafted hundreds of years
ago from huge heritage sites to pristine geq
Tourism contributes to substanti
cultural, educational and political develq ment that
' generates both direct and indirect employment,

world,
es. The
actions.,
beaks to
Covering
seventh
Asia by

-beaches.

89, Besides the world’s oldest civilizations, India is

42. The old man is looking forward

visits of his grandchildren.
(1) withet

A2T
(3)
4)
(6))

the

for

in_k

to

Not attempted

48. Choose the most appropriate preposition to fill in

the blank.

She succeeded
hard work.

JEh s /.
@ for™

(3)

dint of perseverance and

for

from

also the world’s largest country, A by
/({ so et : (5) Not attempted
(@) third '
3) fifth |44. Fill in the blank with the appropriate option
(4) tenth given below.
(5) Not attempted The Battle of Waterloo was won of
' : Eton.
40. Tourism as an industry also contributes to our (1) inthe playedd\
country’s : ° (2) with the play field
(1) religion and statistics? /(3{ anr the playiag Belds. - &
(2) population and employment. (@) for play fielded g
(3) agriculture and religior?~ (B)Not atteriptsd
A4 education and employment.
5) Not attempted
L £ 45. Pick out the correct indirect speech form of the
41. Find out a word from the above passage which following sentence.
means ‘a country’s history, traditi ulture “I have bought a house,” he said.
etc’. (1) He said that he would buy a house®
(1) atéraetions (2) He said that he had bought a house.
(5. ientiy 37" He said that he has bought a house.
heritage i
Dk o g (4) He said that he bought a house. (/.
(4) pristine (&
(5) 'Not attempted ob attempted
RAMA/C1/Page 9 TF T4 % foT0 T | SPACE FOR ROUGH WORK



46.

47.

49.

50.

51.

TR W% @ # cwgva fha

T foa s & 2

(@)
(2
3
(4)
(%)

T 6,00,00,000
% 2,00,00,000
% 1,00,00,000
T 4,00,00,000

ST &Y <A1 =TEad

RO 1 T veft W R 2

1)
(2)
(3
€Y
(%)

AT
o

AT e

TR et (ghim «€)
ST T <1 TR

A s ow wai A e ?

1
(2)
3
4)
(6))

HEA

P

Sfig

RRUEHC

SR T o1 IEd

oF ST&X 1 ‘g =1 e’ et T & 2

1)
(2)
3)

CY
(5)

EECooll
SETAT
Sfig

Tl (TTEH™)
IW qﬁ%ﬂ_i’l‘ﬁ'ﬁ

BT i e 2

(1)
2
(3
4)
(5)

3TTg I JHR
HETGI41a TR

3T ST YR
I I TRTE Jehi
I T <1 =R

gitamn & fre foret # watfires auf @it @ 2

(1)
(2)
(3)
4)
(5)

RECICil

feam
=T

Feam
I TG T TR

RAMA/C1/Page 10
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46.

47.

48.

49'

50.

51.

What is the One Time Cash Award for Mahavi,
Chakra Awardee ?
(1) ¥ 6,00,00,000
¥ 2,00,00,000
(3) % 1,00,00,000
4 % 4,00,00,000
(6) Not attempted

What is the State Bird of Haryana ?

M Black Francolin

(2) House Sparrow
@)  Great Egret

(4) Humming Bird
(5) Not attempted

- ‘Where is the Blue Bird lake located in Haryana ?
(1) Karnal
(2) Hisar

7 Jind

(4) Faridabad
(6) Not attempted

Which city is known as the ‘Heart of Haryana’ ?
(1) Panchkula
(2) Ambala
(3) Jind :
47~ Gurgaon (Gurugram)
(6) Not attempted

The climate of Haryana is :
(1) Sub-Humid Sub-Tropical type
(2) Continental type
(3) Sub-Humid Temperate type
Sub-Tropical Dry Continental type
| (5) ' Not attempted

Which district of Haryana receives the highest
rainfall ?
(1) Bhiwani
(2) Hisar

37" Ambala
(4) Kurukshetra
(5) Not attempted

T T & fora ey I SPACE FOR ROUGH WORK



52. sfemn durRt U9 wfufem, 1994 % wemm x %62, Which of the following committees is mof
S T — appointed by the Panchayat Samiti according to

g 78 & St 2 Chapter X of the Haryana Panchayati Raj Act,

(1) fom, SE-aden (anfee) wd G afvfat g ~Z

@ i = wfif (1) Finance, Audit and Planning Committees
(2) Social Justice Committeg v

(3) «m= Hﬁﬁf General Committee~
(4) O TF Hedv M. (4) Health and Welfare Committee
(5) IR & 1 AR : i (5) Not attempted
53. ST wEHT el et el o R 2 53. Where is Baba Ladaana Tirth Sthal situated ?
S : /(/r( Kaithal
2 Y (2) Rewari
@ L (3) Jind
@ s . (4) Ambala
5) I TE 3 e 2 (5) - Not attempted

. b5 |54. When was the first permanent Lok Adalat set up
54. mﬁmwmmﬁwmg? i Haryane'e

(1) 17aw=, 1966
(2) 17S"e8, 1955
(3) 10%E, 2005

(4) 73T, 1998

(5) I A& 1 =R

(1): 1%¢ November, 1966

(2) 17" January, 1955
8T 10th May, 2005

(4) 7 August, 1998
(5) Not attempted

55. Hiem 1 | ﬁq g FfEmm % foredt & wrefta st bt 55. Match the ancient names of the districts in

e 115 fqu ¢ 37 adam Mt § gafra i ‘Haryana given in Column I with their present
557;817 7 P II. names in Column II :
I s a, TomEn Column I Column I
II. e b, *Yud I.  Sairishake—"a, Sirsa
111, s c. UM ' II.  Kanoud b.  Kaithal
IV. UigTey 4. -q-g:gfrg III. Kapisthal /c. Panipat
' IV. Panduprastha d Mahendragarh

(1) I-c; II-b; II-a; TV—d
@) I-b; I—; ITI-d: IV-a
(3) - I-a; II-d; IlI-b; IV—c

(1) I-c; II-b; II-a; IV-d
(2) I-b; II-c; I1I-d; IV-a
87 I-a; II-d; III-b; IV—c
(4) I-d; II-a; III-b; IV—c (4) 1-d; Il-a; TI-b; IV—c

(5) ST &I < =R (6) Not attempted
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56. TmfeiRen sl W AR HifT :
(a) =y, gRamn § ffifa o =1 oH ®T 8 |

(b) W 50 W R G @ ff @

71
39 | | H-A1/Q wud wd ¥/€ ?
(1) (a) @ (b) § ¥ % el

(3 = (b)
4) (a) W@ (b) M
(5) SR TE T =R

57. shamn i wRig wsEw e w1 Pufa F9 B

a1 ?
(/=4 1974

@ a¥1940%

(3) o9 19479H

(4) =9 1950 %

(5) I & 1 9 e

58. R w1 W g w9 A ok wdd A @t |

27

(1) TR =

(2) wSa g

(3) <« TH

(4) TR FA

(5) I TE 1 =

59. 1770 %. # Tohasgden A Tg F dE A

TSfaeEa fed firer 2
(1) wEresh fEfermn

(2) 31BHS WITE SeqTedt
(3) Sifem @A

(4) 9% @H

(5) I TE &A1 9mEd

60. TS AUV HiGATSAT GRI FET &1 Sl § 2
(1) |
(2) HI9l
(3) A
4) 7™
(5) I &I <A1 ATEd

56.

57.

58.

59.

60.

Consider the following statements :

(8) Chope is a style of shawl manufactureq ;,
Haryana.

(b) This shawl style is also known as Phulkar;,

Which ‘of the statements given above is/arg

correct ?

(1) Neither (a) or (b)

(2)  Only (a)

(3)  Only (b)

(4)  Both (a) and (b)

(6) Not attempted

When was the famous Badkhal lake of Haryana
developed ?

(1) In1974
(2) 1In1940
(3) 1In1947
(4) In1950
(5) Not attempted

Which dance form of Haryana is dedicated to
Shiva and Parvati ?

(1) _Gangor Dance
Manjira Dance

3) Lasya Dance

(4) Ratwai Dance -

(5) Not attempted

After the death of Najib-ad-Dawlah in 1770 AD,
who ascended his throne ?
(1) Mahadji Scindia
(2) Ahmad Shah Abdali
(3) Jabit Khan

Najaf Khan
(5) Not attempted

Where is the Chhaj ornament worn by women ?
~ Waist

(2) Forehead

(3) Neck

(4) Hand

(5) Not attempted

RAMA/C1/Page 12
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62.

65I

AT S S 2021 - 22,3 STIER R 3|61,  How many District Level Treasuries are there in
A fraa e @l S € 2 Haryana according to the Haryana Economic
\ (1) 24 Survey, 2021 — 22 ?
2 25 (1) 24
(3 22 @2 25
4 23 22
(5) SR T T =& 4) 23
(5) Not attempted
e § T YA T W e few (NBHM) :
AT B geIa e I | e 62. National Beekeeping and Honey Mission
(NBHM) Scheme was started in which year in
(1) 2017 Hargsna ?
@ (1) 2017
(3) 2018 @ 2020
(4) 2019 3) 2018
(5) I TGl o1 STEA . 5 2019
gy Tiid, SETERT T A S BFHTTT-I St s e (5) Not attempted
sy Tiial I SIST TR ? 63. How mahy- villages have been associated with
(1) 3,560 . ‘Mhara Gaon, Jagmag Gaon’ Scheme till January
@) 3216 20227
3) 5569 N 9,560
(4) 4,806 Yop 828
A3) 5,569
(5) w TEl &1 =Ted | | ik
hemon & fgga sudeiedl H'pa T 2021 - 29 7 (5) Not attempted
el 2 9 64. What is the total number of electricity consumers
(1) 173,07,992 in Haryana till 2021 - 22 ?
(2) 68,57,609 (1) 73,07,992
(3) 171,17,384 (2) 68,57,609
(4) 72,17,283 8T 71,17,384
(5) I T 2 = (4) 172,17,283
(6) Not attempted
A mﬁ?: ; ﬁ?\ﬁq—aﬁ ﬁz es- 23;§ ;:; 65. What is the percentage of the total expenditure
T™E ? i s « allocated towards Education in Haryana State
. Budget for the financial year 2022 -23?
(1). 152% 1 152%
(2) 182% @) 189%
(3) 16:4% MG' 4%
- 1ea% 4)  142%
(5) I Tel G < (6) Not attempted
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-

@ @99 (66 S : il hails fro
. orts Seema Punia til 1 m
: ¥ fopg. 7ia P person
66. Raardt dmr gftan sifae shamon An

Tt 2 ? Wwhich village in Haryana ?
(1) hrEE Kaluwas
(2) 3§ (2)  Ujhana
(38) W=y (3)  Khandra
(4)  Khewda
E:)) iim?ré’f T TR (5)  Not attempted
: SEar [ 9§ |67. In which year was SAI National Boxing Academy
Sobbiai sl bk o (Rohtak) inaugurated ?
G (1) 2017
& mis B oty
3) 2018 3) 2018
4 2016 - S 2016
(8) I & <1 = (8)  Not attempted

68 ﬁq’%ﬁiﬁ q ¥ gRamn % %Hwﬁ-ﬁc—cl H A * ﬁﬁ 68. Which among the following personalities from

T 2022 = =1 oY T YA e T 2 ‘Haryana _reéeived the Padma Shri award in 2022
(1 I=uw fEg = in the field of sports ?

2) udm fas (1) Yuvraj Singh

) gm sifvw (2) Sandeep Singh

(4) =R g ( : - - (3)  Sumit Antil

(5) I T & =R = S > - @ Bajrang Punia

,. (5) Not attempted
69. 2010ﬁ%awaﬁsﬁmmﬁ§aﬁmwmaﬁf '

, _ 69 Which language was accorded the status of the
feem a2 : second official language in Haryana in 2010 2
@ . Eﬁﬂmaﬁ : (1) Haryanvi
@ s 2T English
@) 31 : - (3)° Urdu -
(4) et (4) Punjabi
. (5) I & &1 TR (5) Not attempted
70. 2015 % fiefte T f afteroreh foeem 1 il Tdim 70. Which Haryanvi film released in 2015 received
IR A g g 2 two National Awards ?
1) & e (1) Veer Ghatotkach
2) aﬂ'{r Sm{ (2) Beera Shera
8) =Ie = Chand Chakori
@) W (4) Pagdi
(5) I H & =med (6) Not attempted
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A (§1331 x Y216 + 729 +¥e1) T
(1) 90-88
@ 13-62
3 79
T4) 1482
(5) IR TET S =R

73, A S T ¥ | W A demad
@-ﬁﬁé,mﬁm§8mgl
3 qEl W B dEw w5y
TET IR ?
1n 14
@ 9
3 10
4)
(5)

w1
T DA e
08%11@}3@

71. (Y1331 x ¥216 + ¥729 + Y62 ) is equal to : A
1) 9088 i o
(2) 1362 \+ 6 N
79 \ Q,Q: )( 5 Q\
AT 4 & X
4) 1482
(5) Not attempted W

72. There are three positive numbers. One-third of
the average of all the three numbers is 8 less
than the greatest number. The average of the

smallest and the second smallest number is 8.
What is the greatest number ? Q\) @
g A u o 1t
\ % £\
@ 10 \»J—
411 5
(5) Not attempted \54

: SRy R . |73. Mr. X has some money with him. He has to
B AKX ;mq :?@ 1 %ll o) H i distribute this money among five labourers in the
GRS R S T m—. ratis 25 i L L ket 16 the setatman
g 30 6 T 25 4 57
21 EE% W-im'a'm_ = R —é:ﬁ =i, amount he should have, so that each labourer
fored I 79 I & 7 gets an exact number of rupees ?
(D™~ %599 ) @ Q (1 T599 :
2 (2) 7358 el Y (2) <358
Teyeaz0 AN AR 420
(4 512 \6 @ 4) 512
6) I 3 T ' (‘S® (5) Not attempted
M. IR A amm B A A 10% AR 2 qor B #1|74.  If the income of A is 10% more than that of B and
T N : & b 2 @ FAW: A B 91.C the income of B is 20% less than that of C, then
y © ; -0 2% , Eod the incomes of A, B and C, respectively, are in
RELk ST ® : the ratio ;
(1 22:18:25 (1) 22:18: 280
(2) 11:10:8 A2V 11:10:8
3) 22:20:25 (3) 22:20:925°N
4 10:9:7 4) 10:9:7
(6) I T T T (6) Not attempted
\
RAMA/C1/Page 15

>~

% T & foTT T / SPACE FOR ROUGH WORK

L G



75. A sum of money at simple interest doubles in 7

75. @Hmmmmqt7aﬁﬁ§ﬁam%'

T8 e aut § 9R T A s 2 7 years. It will become four times in : o
~(1) 429§ - (1) 42 years \» O

@ 189§ (2) 18 years . o

3 2134 | )9/' 21 yoars

(4) 388 : (4) 38 years

(5) 3T T Q1 e (5)  Not attempted

76. TH I N TH wew fiw W gaR # |76, A man and a boy together can do a certain
4 R 8§ W ogwa § wefe T TGS A B < amount of digging in 40 days. Their speeds in
T T U 8 : 5.8 | AR TeH B 3@7@ g *-1 digging are in the ratio 8 G\ How many days will

e o S, @ 9 5w e @) e i d W the boy take to complete the work if engaged
T 9 g | alone ? ) '
(1) 104f= _ ;{1 104 days\< . y

2) 52f@ e (2) 52 days

(3 esfm W esdays o ¢
/9

(4) 8ofa 5 St ) 80 daysel_ A\
(5) 3T G 1 ITEd . (5) Not attempted
L o
A
T2:. - T 19650 Rttt a1 £ 186K T e e il o i b PR e
= ; : 3 ea WO er and T er are
# JHL H TH dHG JHR H I H. 1:1:2 & e ".p g. .p g.
# aﬁ o o “mixed with a third variety of tea in the ratio
39md A 2 bl 5 W:s Titas 1:1: 2. If the mixture is worth ¥ 153 per kg, the
fepctiormd &, it ot 7 A1 _ LR & price of the third variety per kg is :

2:

(1) % 180:00
(1) % 180-00
(2) T 16950
(2) 7 16950 ; .
(3) % 17000 v f Z.170:00
(4) % 17550 ' 4)" T 17550
(5) SR E ¢ =@ - (5) Not atteropted
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’ I T G D PO S aowms e s, ST -
i faftrm Sftheh wmeew, ity R i _ :

i i ﬁ'iaﬁ qr|78. The traffic lights.at three different signal points

d

= R \ ,
il % i » 75 Whs e 90 ﬁ'é}ﬁ * e change after every 45 seconds, 75 seconds an
90 seconds respectively. If all change

m@%nw&%ﬁqmm7 3
qeerdt €, Al e AR T7 fha T @ Y T simultaneously at 7 : 20 : 15 hours, then they will
1) 7:27:50% z next change again simultaneously at : v
@) 7:28:00%6 (1) 7:27:50hours ()/’ g
3) 7:27: 452 ; (2) /7 : 28 : 00 hours (V
(4) 7:27:30% - Z-z;-:ﬁﬁoum

4 L4l ou
(5) IR T & <TER ; ¥ 5

(5) Not attempted

. @ . " $T o 45 2o _ 1 =R et w7(79. The sum of two numbers is 45 and their

gall 1 2 | FILCMR : - difference is one-ninth of the sum. Then their
(1) 250 - N LCMis:

' ‘ : : - e k&{
(3) 150 R o : /ez’)/ 100 {
(4) 200 (3) 150 74 /Ub
(5) TR T o1 =Ed : . 4) 200 i =

; (5) Not attempted g y
80. vﬁx@3ﬁﬁﬂm%3ﬁr&,x%aﬁaﬁﬁwﬁéﬂ - : :
0 § 9qe & 997 Ol gE A, o g Gid 80. If X.IS a- 3-digit m}mber and y is a n.umber
e Sy 2nf - Y. obtained by permuting the digits of x in any
' manner, then (x —y) is always divisible by + r)/
@ 123 1 12 g
(2) 4% By A \LS 4_—
88 - : =N 481 6 :
4 9% _ 4 9 : ‘
(5) ki T2 3 9ed : (5) Not attempted
; 81. ~The . closest approximation of the following
81, = TUHd : . -
: product
0-3333 x 0-25 x 0-499 x 0-125 x 24 0-3333 x 0-25 x 0-499 x 0-125 x 24
&1 fiehean 7 @ : e, :
2 2 £ .> S
)= (1) = < ‘)» W\ £
; 1 4 *?2‘\
(2) % /(27/5 )/
; v
@ 2 I
4 o X
/
@ 2 g 32 i "
8 8 e ¥
(5) IO & &1 TR (5) Not attempted
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KMA/CVPage 17 {
: KIS ¢bY %
\ ’l/<4 Kﬁ y ﬁ\'[

A<

\



14 . frsar on 3.5 M. S=E F wF A F O
qea, Sl $o S g W e T 50 S o -
82

~ A1)
(2)
3
4
b)

82.

¥ 1,09,800
¥ 1,00,208
¥ 1,07,800
¥'1,08,000
ST & <A1 =IEd

A3 T 38,000 T ¥ SR o e | 6 E F
W € 55,000 H Gt T A B 3 ff T AR A
vaw e | 9 ¥ ofa § ¢ 22,000 H T A
9 3 @ w9 ofr A ok B & @y & AT AW
FEIER?

(1) <1928

@ "T1,007

(3) 1,192

(4 < 1,857

(5) 3T &l <1 9Ed

83.

AR T 20% e R A T, @ fE d E e
T 30 39 o AN foshg qov § 37qm @ ?
(1) 11:5-
(2) 5:11
(3) 5:6

4) 6:5
(5) I &l & 9mEd

@Wﬁﬁ? 18,700 ¥ 9= W, THH HIRTH I
15% i 714 2t & | 15% @M % fore @8 wie =
o A a9 ?

82.

83.

85.

The cost of a solid cylinder of radius 14 m 4, q
height 8:5 m, when the cost of its metal is z 5,

per cubic meter, is :

)/% 1,09,800

(2) ¥1,00,208
)<46) ¥ 1,07,800

(4) = 1,08,000

(6) Not attempted

A started a business investing ¥ 38,000. After

5 months, B joined him with a capital of
¥ 55,000. At the end of the year, the total profi
was ¥ 22,000. Which out of the following is the
approximate difference between the shares of -
profits of A and B ?

(1) < 1,928

(2) ¥ 1,007

3 1,192
(4)-% 1,857

(6) Not attempted

84. - If an article is sold at 20 percent profit, then

which of the f"ollowing is the ratio of its cost price
to its selling price ? :
(1) 11:5
(2 5:11
/(37 5:6
4) 6:5
(5) Not attempted

When a plot is sold for ¥ 18,700, the owner loses
15%. At what price must the plot be sold in order
to gain 156% ?

o v i e
(3) T 22,600 (2) ¥ 21,000
(4) T 25,300 (3) T 22,500
(5) v o A T 25,300
(5) Not attempted oo
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o4, . FEIEIS A8 G g SRINY F rar|gg.  Which of the following is used to ensure accuracy
ad% (W) qon Remefm g o and reliability of data in the databage ?
- FR e (1) Database Instance °
@ ST T /(,27 Database Schema
@ JER @) - Database Constraint
4.~ =l femredt (4) Data Dictionary
(6) SH T STed V : (5) Not attempted
87. freferfea § & HH-81 o I R 3Me2fprc |87. Which one of the following statements is correct
FRATR? : about Uniform Resource Identifier (URI) ?
(1) T TF TS Qg ¥ R U %gﬁE (1) It is a unique address that can be used to
e H I T0F J vEEE o LiCT - uniquely identify each node in a network.”
(@ Iz FEH = g ? e B A9 W oym | - (2) It is a set of rules which is used to retrieve
) gé Y 39 TS ) g forar o THATR | - linked web pages across the web.”
(3) 9§ 99 W IUSeY TRAF WO H T © A3 It is a unique address or path for each
(a7frT) 9 e uy By resource Iocated on the webx”
(4) FEATSH TSR F SERCR I 2 | = (4) It is a uniqué value associated with a
G AR A , ' " "network adapter.
; ] G (5) Not attempted
88. e, fem e g T & v e € 2 : ’ 88. Google, Bing and Yahoo are examplesof
1) ‘FIWTH , | () Firewalls |
@ & & ' : /(29/— Search Ehgines
@) T T (3) Mobile Applications
4) W : (4) Software
) : IR T < =R (5) Not attempted
89. el i A smadi#Fa & ? 89. Which of the following is the correct sequence ?
(D ﬁZTEﬂSE > SerETge > finmange >>m (1) Petabyte > Zettabyte > Gigabyte > Terabyte
2) freramse > fieremge > FerEmse > AR (2) Kilobyte > Petahyte > Yottabyte > Megabyte&
(3) WA > fpeiETe > e > fmEnEe (3) Megabyte > Kilobyte > Terabyte > Gigabyte &
(4) THEETEE > fieEnge > dege > firmEne ',(A(I;}xabyte > Petabyte > Terabyte > Gigabyte
- (5) I & T =R (5) Not attempted
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90. WA & Hfyyr § duius F9 & @99 A frafefaa 7190, whicn among the following statements is/are 03
# BH-AY/E wo aa 2R ? Correct with regard to the amendment of the
(a) ¥TZ HI wEy [11 F B dfgum & fedft ot Indian Constitution ?
uT ) Heife a;{ﬁiﬁﬂﬁ'ﬁ% | ' (@) Parliament has the power to amend any
. o o @i Al i & 9w part of the Constitution except for Part III,
®) SR wee e () A Constitutional Amendment Bill can only
ﬁ.imT ST Hhal # 3 be introduced in the Lok Sabha.
(c) @fewm Hehe fadas # Wﬂﬁ\m - (©) The Constitutional Amendment Bill once
Tgafa & srgafa 6 ARl a2 | passed needs the assent of the Presndent..
Hi faw e e @ @ faes #1 T HIfT - Ehoose the correct option from the codes given
(1) (a) 3 (b) Sagd.
1 (2)  (a) 3 () (1) (a)and (b)
@ e o) (2) (a)and (c) 94
(4)  Fad (c) ’8; Only (b)
Only (c)
(5) I & &1 =R ; (5) Not attempted . P
frafafaa sC @9 TH F , : /
‘ 91. . ¥ d w84 2w 9y - 91. Which among the following countne§ would be an
2 example of ‘coming together’ federation ?
el (@) India
(b)  HIH T arife (b) USA.
() artegferan (©) Australia
d w9 (d) Spain
2 fow My 2 @ v faweq &1 w77 A Choose the correct option from the codes given :
(1) (b) 3R (d) below : 9!
(2) (a) 3R (b) (1) (b) and (d)
(3) .(b) 3 (c) (a) and (b)
(4) (a)and (c)
5) I T
i bk RS (5)  Not attempted
. STaEen ‘qu;m ﬁfg’ £ mﬁﬁmﬁ;ﬁﬁ%%t 92. Which among the following was/were feature(s) of
A ﬁﬁ;rzﬁ ofi/eff 2 : g ‘Subsidiary Alliance’, a system devised by the.
: i ' British in colonial India ?
(a) ¥R S JeIwh GRS T A | (a) It was devised by Lord Wellesley™
() wEat v & ‘L-&}? 7w fafew ‘@ﬁ'cﬁ & (b) A British army contingent was to be
e @ | : stationed in the territory of the ally."v
(c) w&AM ga fordt 31w wias & A1y SiE Gy 98 (c) The ally could never get into agreements  gq
HT TR | with any other rulersy/
(@ Ry weanft vg A Faa vais FHfaa @ (d) The British were to protect the ‘a}ly only
& 9 | from the internal threats to power.
2 w5 @ G Rewes &1 997 v Choose the correct option from the codes given
3‘;&? : below : .
(1) (a) (d) 1) (a)and (d)
(2) %9 (b) (2) Only (b)
(3) (a)3 (b) (3) (a)and (b)
(4) (a), (b) 3K (c) —) (a), (b)and (c)
(5) I @I & W' (5) Not attempted =
R;



prferted ¥ & fbw wenfees

93 aﬁﬁa‘mﬁﬁmméo mﬁ?’ﬁ‘ﬁ%f&m

Which of the following plastics is used for making
electrical switches ?

93.

@ /m/ Teflon
() T (2) Polythend~
3 WA 3) PVC_ .
4) SFare (4) Bakelite
(5) FTX e a:n e (6) Not attempted
g4, 17 TR 2022 i AR Ueft e R’ wy qrg (94 What was the slogan of the ‘Patient Safety Day’
A ? : which-was observed on 17th September 2022 ?
p ﬁ) “waree & gy 9 S 1) “Health With Yoga” 7
@ e, fen asn”gi ' (2) “Health Without Medication”,<_
8 “e i e A =4 (3) “Meditation Replaces Medication”
: (4) “Medication Without Harm” g
@ <o, fm Rl
(5) Not attempted
(5) I TG oA =TEd
95. 9 W9 T F FT AW 3 R 09 e _&ﬁ 5 95. Wh/at is the name of the plant group whose
3 5 o T 2 9 ‘plants bear naked seeds and are usually
’ : _ perennial, evergreen and woody ?
(1) S : (1) Bryophyta
(2) fo=rem (2) Gymnosperms
(3) ufrETH /{ Angiosperms
(4) RErETEe (4) Pteridophyta
(5) Not attempted
(5) It A&l &1 =Ed 4
96, iy § WRa 3 @§ 1900 & Wit 2020 T fFH(96. In Olympics, India has won the maximum
-yt & watfus @l e g9 number of Gold Medals under which category
: : since 1900 to 2020 ?
1) FEd
(1) Wrestling
e : (2) Shooting
@ A "/(3%” Hockey
(4) gepeTshl (4) Boxing
(5) IT & AT dTEd (5) Not attempted
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i : 3 s,
: . ’ % N 97. In a Market Equilibrium figure, if the Demang “}%
97. IWR Tgew @i #, A} @it g% a8 N curve shifts leftward and the Supply curve shifts Tg
HT ] qoqT Ty & gfd 9k T8 N ! farge T & - rightward simultaneously, what is the impact on &I;
T St o e 6 e (]?)]ml: nu;?nzr:edzcided g :
em 3
((21)) e s ) Decreases :
: (8) Increases
(8). g (4) Remains constant
((:)) o é;%:lg% . (6) Not attempted

98. Selling off a’'part of the equity of a Public Sector
Enterprise (PSE) to the public is called

(1) Communisation

98. Tl WM &3 $ yumn (femd) F FRA F

in which University in 1919 ?
(1)  Allahabad University~-
. yyAligarh Muslim University

T I WSS §Y @ 57 T e 8 ? ok o5
ek
(1) W‘Tf ; ) £ ationalization
: A3 Disinvestment
(2) THEE : : e
- .(4) Delimitation
@) fafaw : 3 _ :
(5) * Not attempted
4) vy : 5
(5) I 7 2T = ' 99. India’s first nationalist art school was established

99. HRA T Ygen Ugardt wen faem a¥ 1919 # R

fervaferemera & wonfg fman mr o1 2 =
g ) Visva-Bharati University
(1) sEERE yafaer -
: (4) Banaras Hindu University=
2 ¢ 3 ' (5) Not attempted '

(3) Tava-ureh fvafiemem ;
: 100. Which of the following waterways: has been |
(49) wIE %?Lﬁaaﬁmm : . declared by the Government as the National

(5) I AGT o1 =R ‘ Waterways N.W. No. 2 ?
, ~ (1). Specified Stretches of Godavari and
100. F=fafen semmit # @ frg St | g@r e Krishna rivers along with
. U oM g1 2% w9 5 Hifa form mam @ 2 Kakinada — Puducherry Stretch of Canals
(1) FHARI-T= TR/ B9 ¥ qoay Tt -~ (1078 km) |
3R Fon et & fifée smr (1078 5.1, (2) The .Granga river between Allahabad and
(2) TAREE Ik e ¥ mE M aldia (1620 km)
(1620 ﬁ;,zﬁ,) The Brahmaputra river between Sadiya
i(891 km :
1) & # L E . (4) The West-Coast canal in Kergla
S 7 9 ; .W ( g “Wv (Kottapuram — Kollam, Udyogamandal and
T - 205 ) ’ Champakkara Canals — 205 km) «_
(5) S & ¢ = ;

(5) Not attempted
e
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€

rﬁﬁﬁn%wﬁé”wsmv#qg;

8. I P Iuftaaw R ot ey = 7 e & @t s A
SIS T8 S % R 0-95 37 2 | N
9. mﬁﬁwam%&amuﬁmw‘ﬁm
;%ﬂ;qumnﬁmtq\aaﬁ.qw.mﬂﬁzﬁmm=ﬂ
|
10. 9 1 FT F % forg et w57 e v s R | I OB
q S 39 T g o 4, A 7w I A T
e |
i a1

11. 4t ot Sficam #t st ww.am, s o @ oiet t
T8 8 AT | a2 3¢ S, o, e s e o &

| T S geeR % @y s e e 3

IR “T” 1 Jeor@ i s | * ;

12. 3 T 0 SR, v e & Fredt o g A A I
shT@ N :

13. 3EfIaRY Y wete & e & o5 3 ofqu.om, I T A
T sy aﬁ‘,aiﬁm,ﬂaﬁﬂ,é‘?wm’
© Il AW AR %1 97 | : ;
14. SficAR it v s /eka #§ Priters i ufeal 3 TR,
ST TE SRR T W S P S TR
T =Ry | :
15. el oft w9 & 3iiish i Rt sl & ot Fnf & e 4,
STl HEH B sifw wE S | ,
16.@?%&3@3%}@%@@@%%13‘@%&1
IR :
17. ST 1 qedi soagiie THEn yfin % meam & R s |
;ﬁ{ﬂmmnﬁ@m‘aﬁm_m.wm_aﬁmmm
: .

18. 3ufigaT 1 Jaradt & It & 3 N WIR, ITW TF T A
3 7 & P e T | vhEn F AT 3., I THH W
Mﬁmé@ﬁaméﬁaﬁ@mm@%mﬁm, T,
IS, TR WI§S/SMe A 1 I G Aot B | R,
oIS, TG A FIeT FFS/ AR B I H A IS
1 Ieficard 3R sinam. Iw v el ot we A gue,
&9 T afft % fRrg ® = e smam |
9. 3. T3 I =& N 3 wfwar gift
Fratera ufa | wher wwm @7 % arg, Iefigan sium. o,
ST U= Y g1 Wioal ydaers @ |l 3 | uhten @AW 2R
& a1 ufiqan Wy g w@d & wg A e § | i
 IEHigER 1.QH.3TR. I Ui Y ST vfoat gdaes wy T8
u‘fum%sﬁz:;%ﬁ:

T Wav 9% S B o AT ¢, W Sadht Infigar © ww @
A 3R IWES Raenws s wdard o w6 |
20. Iefizari 1 =t & st & 6 wan g # wwr, B A

W, fret ot wR ) ud, Az, s, 3,
?%nﬁ,mmmm, i,

T B | i

21. ven war/wie 4 eraeff wlan P & i g g

qﬁﬁgmﬁ%ﬁmmwﬁm%mmuﬁé{
3k
!

TR 92T it R, < A & S
m%aﬂtmmmmﬁmmg,

Y s AR

ara o i g |

fereht oft qeamdw (shom.om. SR a1

fead carefully the following instructions :

9. The candidates are warned not to mark anything on Office Copy,

10. Pencil shoylqd not be uged for darkening the circle. If more than

1. No candidate will be allowed to leave the OMR Answer Sheet
125Do not tear
113. Candidat‘es are ad;fised to make sure to fill the correct particulars
14. Candidate should put his/her thumb impression and signature on

15. In case of discrepancy between the English and Hindi versions of
16. Rough work is to be done in the space provided for this purpose

17. The answers will be evaluated through electronic scanning

18

19.

20.

21.Candidate in the Examination Room/Hall are govefned by the

- Eraser, Sharpener and Correction Fluid in the Examination |.

L

—

In case a candidate does not fill any of the Options then 0-95
Marks will be deducted for each question which is left blank,

The impression of Original OMR Sheet will automatically be
Mmarked on Office Copy.

one circle is found darkened, that answer will not be evaluated,

If any OMR Answer Sheet is found blank, it shall be
crossed by the Invigilator with his/her signature and “Cancelled”
Written across jt, 4 .
or fold any page of the Test Booklet or OMR
Answer Sheet.

on the OMR Answer Sheet, i.e. Name, Roll No., Test Booklet
No., Mother’s Name and Father’s Name.

the OMR Answer Sheet and Attendance Sheet in the presence of
Invigilator in the Examination Room/Hall.

any question, the English version will be treated as final.
in the Test Booklet only.

process. Incomplete or incorrect entries may render the OMR
Answer Sheet invalid. -
- Candidates are warned not to fold or make any stray marks on
the OMR Answer Sheet. Use of Eraser, Nail, Blade, White
Fluid/Whitener etc. to smudge scratch or damage in any manner
on the OMR Answer Sheet during examination is strictly
prohibited. Candidature and OMR Answer Sheet of candidates
using Eraser, Blade, Nail or White Fluids/Whitener to smudge,
scratch or damage in any manner shall be cancelled.
There will be two copies of OMR Answer Sheet i.e. Original
copy and Office copy. After the examination is over, the
candidates -shall hand over both the copies of the OMR
Answer Sheet to the Invigilator. The candidate can take away
the Question Booklet after the examination is over. If, the
candidate does not hand over both the copies of OMR Answer:
Sheets to the Invigilator and goes away with any of the above
documents (both the OMR Answer Sheets and Original
Admit Card), histher candidature shall be cancelled and
criminal proceedings shall also be initiated against him/her.
Candidates are warned not to carry handkerchief, any mobile
phone, any type of watch, belt, wear ornaments like ring, chain,
ear-ring etc. electronic or communication device, Pen, Pencil, | _ /
- Centre. If any -candidate is found possessing any such item,
he/she will not be allowed to enter the examination: centre.
Candidate found possessing mobile phone or any other aiding
material as mentioned above in the examination room will be
treated as a serious violation and it will amount to cancellation of
the candidature and debarring him/her from future examinations.

rules of the Examining Body. Ifa candidage doqs not cpmp_ly wi!:h
the instructions or creates any kind of ipgllsciplnne, thg: action will
be taken as per instructions and in addition the .candldate. can be
debarred from appearing in the future examinations and is liable

for criminal proceedings against him/her.
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Important Instructions for the Candidates :
1. This Test Booklet containg

" the Code printed on the OMR Answer Sheet is the same
. Do not forget to write your Roll Number on this Test

. The OMR Answer Sheet is inside this Test Booklet.

" this Test Booklet has total 24 pages and OMR Answer

.- Please ensure that Serial No. and Test Booklet Code of

. All questions are compulsory. Each question has five

. 100 questions. Each
correct/most appropriate answer carries 0-95 marks.
There is no negative marking for incorrect answers.

The Code for this Test Booklet is C1, Make sure that

as that on this Test Booklet,

Booklet,

When you are directed to open the Test Booklet, take out
the OMR Answer Sheet and fill in the particulars
carefully with Blue/Black Ball Point Pen only. Use only
Blue/Black Ball Point Pen for marking responses.

Before attempting the question paper kindly check that

Sheet consists of two copies. Within the first five minutes
of the examination, candidates are advised to ensure
that all pages of Test Booklet and OMR Answer Sheet
are properly printed and Test Booklet is not damaged in

any manner. .

OMR Answer Sheet and Test Booklet match with each
other. In case of any discrepancy, the candidate should
immediately report the matter to the Invigilator for
replacement of Test Booklet and OMR Answer Sheet
both. No claim in this regard will be entertained after
five minutes of start of examination.

Options. There is only one correct answer to each
question. Choose the MOST APPROPRIATE OPTION
and darken/blacken the corresponding circle on the OMR
Answer Sheet. If you do not wish to answer any of the
questions, you must denote the same by darkening the
circle against Option No. 5. No marks will be awarded

against this Option No. 5.
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